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Svar till nagra 6vningar pa Kapitel 3 till kursen Linjiar algebra II, 581109, ht 06.
Kap 3.1
7. £(—16,3,16).
8. a) (4.5,—0.5,1.5) b) (5.75, —2.25,0.25).
Kap 3.2.
2. a) V13, b) V/209.
6. 4.
T+
Kap 3.3

9. a) 102, b) 25¢/50. ¢) 170. d) 170.
17.a) 1. b) \/% c) \/%

Kap 3.4
2.a) (1,2,—-1), b) (1,-3,1).

4. a) 1V/374 b) 1 /ITH0.

10. a) 16. b) 45.

Kap 3.5.

4.a)2y—z=—-1.b) (z—1)+9(y —5) —5(x —4) =0.
6. a) Yes, paralell.

8. a) Yes, perpendicular.

10.a) (z,y,2) = (5,—2,4) + (1,2, —4).

20. 7o +4y — 22 =0.  22. Rétt t-varde &r t = 3.

2.z —y—4z=2. 33. 2o + 4y + 8z = —13.



